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(—1)®* X m X b°

1.

goooboboobo:

U —o0obobbobobobooon
ggoooood

gobobd —0ObOoobboobooobooon
00000000000 000 (0D)ooog.

00O (kit,b)—O000000DODO, 2% =65,536 =

64K, 252 = 4,294, 967,296 = 4G

000000 (Most Significant Bit, MSB),
000000 (Least Significant Bit, LSB) — 1
goooooooooo

00— 00000000,000 (byte, B) — 1
0000bOO0oooDboo,bonbD 80dno
0000000 (parity bit) —00000000O
Odooooooooooooooooao.
00000 (octet) — byte 00D OO 8000
goooobbbobobo, bbbobbooooa
O8boooooooooooa.

godd

00 (integer), 00O

.00 +00000 (signed magnitude represen-

tation) — 000 10000000O0O.

. 100000 (one’s complemnent representation)

—oooo2000000,00b00booon
1004d.

.200000 (two’s complement representation)

—100000010000.
n0000 (n-biased representation) — 00 O

0ojooooooooOooooOo.

00 (real number) — IEEE, URR

000, m: 00 (mantissa,
significand), b: 00O (base), e: OO (exponent).

0000000 (fized point number) — 000
00oo0o0O0o 10

0000000 (floating point number)

000 MSBO 1000O000000000OOO
(normalized) 00000000 DOO. (0D0ODOO
200)

15 = 1.111 x 241 —129 = —1.0000001 x 2LLL
0.125 = 1.0 x 2711 0.015625 = 1.0 x 27110

IEEE 754 floating-point

standard

320

1000 8000 23000
\ 00 s \ 00 e \ 00 m

gooad

O (-1)*x (1+m)x2 2000,

e=255m#0: 00(Nan)

e=255m=0: (—1)°x oo

0<e<255: (—1)* x 267127 x 1.m

e=0m#0: (1) x 27126 x 0.m
(1)

e=0m=0:

64 0
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1000
DD\

11000
00 \

52000
00 \

goood ‘

O (=1)° x (14+m) x 271923 goQg.
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4.1

IEEE 754 000000

0000 (overflow) :0000000000OOO
gboobgoo.
0000000 (underflow) :00000000
gooobogoo.

goodoood

ASCIIO0O (American Standard Code for In-
formation Interchange) — 700000
EBCDIC 00 (Extended Binary Coded Dec-
imal Interchange Code) — 8 00000
JISSOOOOO —ASCIIOD +000000
JISOOOO —200000 JIS X 0208 ('83)
ASCIIO O OO Shift-In/Shift-Out O escape se-
quence (ESC +2000)00000.
EUC-JP 0O (Extended Unix Code) —8 0 [
0.MSBOOOO 200000. ISO-2022. (GO:
ASCII, G1: JIS X 0208-1983, JIS X 208-1990).
ISO-2022-JP OO0 — MIMEOOOOO.

ESC ( B = ASCII,

ESC ( J = JIS X 0201-1976 (00D 0O),

ESC $ @ = JIS X 0208-1978 (7000 x 2),
ESC $ B = JIS X 02081983 (7000 x 2).
000 JISO000 —2000 (MS-DOS O)

UNICODE —2 000 (Windows NT, ISO10646)

00000 (Byte Order) ....[000|

“big-end-first” Ooo0oo0oao

Big-Endian 0 1 2 3

0: IBM370, HP, SUN, PC/RT, MC, News, SGI

“little-end-first” Oo0ogoao

Little-Endian 3 2 1 0

O: Vax, DECstation, 80x86

00000000000 (Network Byte
Order) ............... ‘ Big Endian

htons()/htonl()/ntohs()/ntohl()
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2.
3.

goodduo

00000 — 000000000000
000 /000000

000 — 000 /00000

00 (00O0DooO0)

oooooooo — 1,23



